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ex. Motor Magnetic Circuit

20 cm)\

Cross-Section

i 2,
/
Stator
Kl Ho
L
—
X
25 cm . g
Pole 2em—p] |e 29 cm

Given = SO0 el for rotor ¢ sTats,
Aoy = 2
/g/‘o‘for — ?’/C"‘

AS;MME: :Lr;’.ll;ir a“/ /[/‘_—-:/V?/ o
- '/_}‘ficﬂ/ “ﬁof Mo"f{‘o"f +fo &e ”ba/anc:e/

CQ/CM/G%G 70&"3 mmJC(S‘ /’ejwifa&/ %O acéw'eve
%aﬁ,f = 5»</0’3L-/b = § b, Téldmj selecT T

Gbnd’ /'/ thven ng {‘3714;/‘5/143/;{' 7PA ﬁ?é fhc‘_’
Corrent T 2 Bo9 of 154 =124



motor_magnetic_circuit.doc 214

Ex, C.om'f.
éa /C;Mﬂ,'/z‘e f&/u&%&n&&f ‘7[6:/' e‘.’fw:‘va/em% Mﬁj/laf)’a C,‘,—-Cu;‘/'

2 A 2lx 0"
¥ - =
ddbid A S tor 5&00/4/0 (Zxro't)(za,kro'z)

?_Z/p'ff:r -— 3355-.63‘!'5 A%‘/L

Loap - _fz_zi _ 2x 0”7
[2 9afs] ,66 2op

(%Kfow?)[(zxf;z + zxro'%YZo,m*h Zxro’3)7
729&/ - ?581/3‘1’. Y359 ﬂ%&

P MER J)ame.?"er

2?—3,0 I"o‘hf H'Cn...gfer’
/( /e 29{/0 /V%fo .1
72/0/& . =pele Z/X!o ~ 22k )
(2peles) A Spele z

Sooo (vrxw?) (2xw?) (201072

7 _  ©oor8 _ Py
fv(e' T 2.5133x06F T l114.087¢ Z/L
p B e ) 77 (22107
Sf'a'f"o( - k2 — 2
- -— T e— -
, A Syuter So0o (Hrsie)( A5 ) ()
coch belf _ oqz4 /S

of sfuter 2.5133%70" %

Asets = f 875 1%,

T




motor_magnetic_circuit.doc 3/4

exX. con, f@m;‘/a/ﬁ"f‘ ,47,.9,,@,1‘71:, Ca‘/c:w?"'

- At
Ry = 11490 77

(1) F =N, =NI
R, = 358 1344 g7
3 R 2 ‘me R =e355¢ %% R/ 2 3
= /6,875 2, R, =359 ht, 0P
() F,=N,I,=NI

- s
Rooie = H4.(Az,

50t

(D) F=NI

Negt =
wT PRI ER L2 F R
=168%5%%, | =/¢,835 47,
(D F,=NI




motor_magnetic_circuit.doc 4/4

EX. cont

(D F,=NI
: Hege = _ Hoctutor //fgmm
Heyy = $ b
Froo| 2226, 952.6745 4%, 2 - gyzrc it
(D F,=NI

Aﬁ//)/ /é(/{/ (9‘-" HPE CW c{;/¢¢, ;on)
~ W+ Lot (726, 952.6745) = NI + oo (84375 = 0O

- 5“551&;.}-“113 L otrr = 5;(/0"3 o into e’g'n

+o 9&4’
_ (5xe7 )[?26 452.6745 ¢ 04375 (
'Z
~ /838225 At

E = NT =

Cheese ,Z—'szﬂ) Fhem the Namber o~ FurnS s

N = /673?;?5 - 153.185

Sinaé n mws'f be an *’"'F"ﬁ‘:‘ J caéod’Sc
18328325
W

W 159 and T =l93%SH = Tise
..--‘-""‘“"“'"'“"“'_—T ‘“’_"M




